Teryn Bates

Every Birdy
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I.Ev ery bird - v wants to sing so high oh so highup on the staff.
2.Ev ery bird - v wants to fly so high oh so highup in the sky.
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1.Ev ery bird - ¥ wants to sing so high oh so highup on the staff.
2.Ev - ery bird - y wants to fly so high oh so highup in the sky.
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I1.Ev - ery bird - y wants to sing so high oh so highup on the staff.
2.Ev - ery bird - v wants to fly so high oh so highup in the sky.
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I.Ev - ery bird - ¥ wants to sing so high oh so highup on the staff.
2.Ev - ery bird - v wants to fly so high oh so high up Tn the sky.
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as high as thehighest note. note
high - er thanthe highest tree. They tree They want to become free S0 free.
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as high as thehighest note. note
high - er thanthe highest tree. They tree They want to become free S0 free.
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as high as thehighest note. note
high - er thanthe highest tree. They tree They want to become free 50 free.
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as high as thehighest note. note
high - er thanthe highest tree. They tree They want to be.come free S0 free.



